HENEREREHES

Mt

DH4E6H3H (&)

6:550) (81 @ kg )
e EE ffEd B =2 = fE | & {8 wm =

PE 238 SCZA 5,916.9 50 21
£S5 250.6 500 365
YAH LA 62.1 100 36
JUH LA 338.9 563 20
LSHLA 106.2 401 20
PFELSHLA 653.1 745 101
SFHLA 408.5 396 20
RHLA 93.1 444 246
R3IHLA 78.3 400 81
HSRBLA 996.3 208 20
ELoo 53.6 89 22
FAATLY 476.8 1,600 239
<7+ 113.1 1,450 1,109
TVAYTAF % 61.5 169 20
F7>37 764.8 229 20
HFHSS 153.1 35 20
RAI UL 129.2 959 100
FWRAIUL 25.1 459 82
7o F A 78.9 985 80
A F AH 50.0 8,027 3,500 [gi
TLSHSH 22.6 119 23
T ALY 18.0 30,000 18,900 [50 ¢

NG 4,933.8




[f¥fa] (BT ¢ kg )
TRETRAE =V H =2 = 1B Z & M =
SHEE 23 AXHBT 112.2 960 39
ZILAA ST 321.8 289 122
ZILAA 58 30.0 1,509 1,480 ﬁf&/s
1 c/s
YUAH 792.3 879 200
UL H5E 910.0 6,120 2,700 ﬁflms
1 c/s
> RS 47.8 503 369
==+1h 48.1 145 111
=X4 T 58.0 789 100
T F£4 T 3,349.4 710 30
FEF~< T 776.1 2 683 1,250

T2

11,267.3




[f¥fa] (BT ¢ kg )

RETENE gy M 2 = 1B Z fB fm &
EERFE 1658 |<TH/N\ 166.4 40 24
Ju 16.6 223 180
ESX 1,730.4 630 150
AATH LA 85.5 800 530
) LA 88.1 453 20
LA LA 207.1 254 22
IHLA 59.5 339 111
IOHLA 91.3 800 90
HSZH LA 25.2 70 20
O9F 48.4 200 119
<A 108.5 820 201
FHA 32.0 180 29
F7>09 2,952.4 206 30
HFHS 169.1 50 20
>Ox4)UL 234.6 1,039 456
905 19.9 1,414 1,300
ZXF 1,043.1 1,096 300
JEZHRN 149.0 90 20
TRIIR™ 536.2 1,111 30
T RIS 65.0 433 20
ESWAHZ 40.8 690 119
HY= 20.4 4,500 359
EIVHA 28.3 296 129
INtEE 7,917.8




§::3=:) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
By 7€ HRwFHA 1,774.8 430 190
#D 4& > up YAVIN 76.3 1,100 569
Bk 2 7oE 3.5 18,000 7,000

T2

9,772.4




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B /[E] B &
K 232 <73 345.4 2,200 1,500
=247 42.1 1,500 300
EEXNRIFE 1655 X 11,212.0 800 300
A2HLA 205.0 500 200
<AL A 330.8 20,000 300
I54 243.6 1,500 300
XXF 2,276.5 1,200 500
=45 21.5 800 700
Uil 4 I5A 71.3 1,300 300
ho 2& <73 57.2 1,600 1,300

T2

14,805.4




